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General Instructions to the Examinees:

1. odemef Te9ed 91 Y9 95 R i ifard; fad |

Candidate must write first his / her Roll No. on the question paper

compulsorily.
2. Off A & sifa €
All the questions are compulsory.
3. TUH U 1 3T I S S-YfEdent | 71 fod
Write the answer to each question in the given answer-book only.
4. T HUS 239 24 e fokeu § |
There are internal choices in Question Nos. 23 & 24.
5. U HHIR 2/ 5T Afd TLIHS § |
Question Nos. 2 to 5 are Very Short Answer type questions.
6. | w7 & ww @ ifye v €, 39 Wt wrl 1 g T Wi Haq fod |

For questions having more than one part, the answers of those parts

are to be written together in continuity.
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7. TRAEEN 1H AR 9 (4, ii, i T iv )T | TR 90 % 91 ooy I, 9, |
IR ef@ T | Tt STVER S-Yfeet | R aiferst st iferg
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
Jour alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

W9 ShHTh HE ST HRT HATRT

Question No. Correct letter of

the Answer

1. (i)

1. (ii)
1. (iii)
1. (iv)

1. () ‘oifeafqe) 951 wec o1 GAYSH SYANT A KT 9 feon wen ¥

() To o TTA FI (@) Fo o 3irew F

(F) Tat Hifoad &t (3) Gehrad Al |

The credit of using the word 'ecosystem' for the first time goes to
(A) A. G. Tensley (B) E.P.Odum

(C) Carl Mobius (D) Sukaschev. %

(ii) TR SoTHoTo H Y= forgei W =R MR 3fe & ol IR
F STl TSTH &

(31) StoTHoTo LI (9) wnfene
(@) REiwm wwerfwus (3) aF |

An enzyme that catalyses the cleavage of chromosomal DNA at a

specific site is
(A) DNA ligase (B) Plasmid

(C) Restriction endonuclease (D) Vector.

N —
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(ili) HRETE TS J&1 1 ATEAaeh 9 §

(+1) vheiiftre fseRean (%) T srgeE

(7)) sodtee faeg (3) TFRmifsH |

Botanical name of Marwar teak tree is

(A) Prosopis Cineraria (B) Tecomella undullata

(C) Dalbergia sisso (D) Tectona grandis. %
(iv) WEH 1 HH F T aren A 7

(1) AR (9) TS

(9)  Hemnm (%) TEErwRAfeAITE |

Disease caused by deficiency of protein is

(A) Kwashiorkor (B) Goitre

(C) Pellagra (D) Riboflavinosis. %
S oA R R 2
What is germplasm collection ? %

Y Scares gl H fhE sAwt o1 dent i a9 H U oI e Sl § 2

Vaccination of which disease of dairy animals is done once in three

1
years ? 5

2
eI FeaierTol & ITRER T He sl S 1 74 fafee |

Write the name of a symbiotic bacterium responsible for nitrogen

. . 1
fixation. 1

2
wEd =k Y wEd ® ?

. ) 1
What is crop rotation ? 5

TUSA GRT Hh0 WM & faw <afd #eX 9Icy &1 SUGHdl o hig &l SR
AT |

Write any two reasons of suitability for selection of pea plant for

hybridization experiment performed by Mendel. % + % =1
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10.

11.

12.

13.

4

STASITA & STSTASITd fa3ioeh &1 Ueh-Ush IQT8Y01 SIg |

. . . . 1 1
Give an example each of inherent and non-inherent traits. 35 +35 =1

W 1 HEA T 39 T SATMHA Sitel 1 G 1 fiig smsy |

Draw the pyramid of field-crop and number of organisms dependent

on it. 1

% e fHd #5784 § ? 76 e & TR 1 RO 0 ¥ 2

What is blood agglutination ? What is the cause of the action of blood

agglutination ? 1

Teh G e (XY ) 1 EErwierEn A aes i (xx ) %y faaw En
R gafd H grHrwiferan U st guifad Semifd 1 @ e[ |

Draw a diagram showing possible inheritance of haemophilia in
offspring when a normal man ( XY ) is married with a haemophilia

carrier woman ( XX " ). 1

NUse §R1 Uehcd Hohi Heh{Ul YT o YR W Yfaurfed o9 99smey | 39 %id
1 IR WS G YS3ia hifeg |

Explain the rules formulated by Mendel on the basis of monohybrid

cross method. Demonstrate the cross by Checker board.

1 1
2 t3 +

ST fh 8 hed § 2 SR o RN 3¢l g Uh foehT &I THHATST |

What is aneuploidy ? Explain any one syndrome caused by

N| =

=1

N —

aneuploidy. % +1-= 1%
iftfeafaet & & oora T & A9 fafaw | fedt &= fasiy =t e stwfa &1
9 TTHT W T J9S IS § 2

Write the names of abiotic components of an ecosystem. How does the

topography of a particular area influence the biotic components ?

+1=1

N| =
N| =
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14.

15.

16.

17.

18.

19.

20.

5
TSI qreY foRd wed § 2 TS 9ISl o %2 aR oy fafeu |

What is transgenic plant ? Write any four advantages of the transgenic
plants. % +1-= 1%

Stramopeti @ sgfem Scareq ford yR fovan ST § 2 9HeET |

How is insulin produced from bacteria ? Explain. 1

N| =

Tl fhd wed € 2 T8 99 o1 asfas 9 fafey, fseae @ 9 99en 9m
I & | A9 § SUfed WA o1 AH fafEu |

What do you mean by spices ? Write the botanical name of a plant

yielding spice from its stem. Write the name of chemical present in the

. 1 1 1 1
spice. §+§ +§=1§

nyueel # fafve amfse o1t & aR@dq &1 9ass | aguesEl % ®d @l
ArHifehd =51 ST |

Explain the development of different social groups in honeybees. Draw

a labelled diagram of beehive. 1+ % =1 %

T o ST H g arelt o gTfEr fafey |
1 1

Write the three harms caused by use of tobacco. 5 t3 +

N| =
1l
o

N| =

YAl I JhHE IZA T TG ki o A4 To TRl Tk w1k & R 3=l
Teh T 1 ATH F AT fafEm |

Write the names of factors responsible for crop damage and mention

the name of one disease and its character caused by any one factor.

N| =

=1

N —

+

N| =

+

N| =

STl 1Y o1 31 THemEy | 3ud R fafer w1 s foean sman € 2

Explain the meaning of sustainable agriculture. Which practices are

. 1 1
used for it ? l+5 =135
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21. A 9 stawen # vy fo@E <@ © 2 oA ® fHe arelt yq@ wAieh
U I | Il T[ORGE 1 ATHifRd foas sAmsy |

In which stage is chromosome distinctly visible ? Describe the main

parts found in a chromosome. Draw a labelled diagram of generalised

1

1
chromosome. 5 +25 +1=4

22. T HIfFR 7T hed & ? fafie TR &1 Wy sl &1 3Sere 9fed
TS | TR HITR13T & fadied Td Ibd1 § ey &1 @t fost 18T |

What is stem cell ? Explain the various types of stem cells with

examples. Draw a linear sketch showing relationship between

differentiation and potency of stem cells. % + 2% +1=4

23. % yreu-foeg frmfor & yg@ =xoll 1 9ol ifse Td gaet omeEt fos AR |
3rerEr

S sifmifaent wd St dienfieet s oftafua wifse | et fos 5t wewa @
ST iRt 1 formm 1 o= wmensdl 9 ey SHesy |

Describe the main steps for development of new plant variety and draw

its linear diagram. 3+1=4
OR

Define Genetic Engineering and Bio-technology. Explain the
interrelationship of biotechnology with other branches of science with

the help of a linear diagram. 3+1=4
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24. TEH U &1 F=AifoRa fagsil o o=l 99 Hifeg :

(i) TS o1 AT
(i) T E=ROT & = KR
(iti) T o TO&TT
(iv) UHYH Td SYER & IR SUH |
3T
ISt T 1 TeifeRd fargadl o st=ia a0 SifaT

(i) TSR T AMH
(ii) YU T HIIT

(iii) T F T A0

(iv) UHYH Td SYER & IR SUH |

Explain AIDS disease under the following points :

(i) Name of pathogen

(ii) Four causes of disease communication

(iii) Test of disease

(iv) Four measures for prevention and treatment. 1+1+1+1=4
OR

Explain Rabies disease under the following points :

(i) Name of pathogen

(ii) Cause of infection

(iii) Four symptoms of the disease

(iv) Four measures for prevention and treatment. 1+1+1+1=4
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